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Comparing powers of 2,3 and 5 on the both sides
of equation, we have
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Consider the equation

BB -2 s

=(VZx2x2x2x2) <2 -1

i(ﬁ)x+2Y+1 1
= [[25)%}){ a2, g0

3%
:}22 +2Y+1=KD

:5%-(“1):@

=5Sx-2[y+1)=0

MNow consider the other equation
b4

q4-=
g -16 2=0

= 2% _ 24[4%] -0
— 23‘;‘ - 24[4_%]

Y
=3y=4a[4-2
¥ [ EJ

= v =16-2x
= 2x+ 3y = 16....02)



Thus we have two equations,

Si— 2 =2 (1)

2%+ 3y =16,....0(2)

Multiplying (1)1 by 3 and (2) by 2, we have
15x -6y =6....(3)
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Adding (37 and (4), we have
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Substituting the value of x in equation (1), we have,
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Solution 9:

1
3% —(81)™ and {10)v = 0.0001

1

10000
1

R |

= 3% 23 and (1YY = —

0¥ ==

1
= 4x =-4 and {10} = 10

= 3% - (37 and (L0}

= x=-1 and l=—4
Y

= x=-1 and y=—l
E]

_1
4

Sk 1E =2 v g

— Ty 2%[_%]
=2x 21

- ol

=27

-1



Solution 10:
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